QUESTION:

We understand that N-Pol uses a 1 Mw magnetron transmitter.  Usually these magnetrons have a duty cycle limitation of 0.001 (0.1%) which means an average power limit of 1000w.  However, if we use the worst case transmitter parameters listed in SOW (1 Mw, 2 us, 1200 Hz), we get an average power of 2400 w which is probably not possible and would require very expensive rotary joints.  
Is the N-Pol transmitter limited to a 0.001 duty cycle with the 1 Megawatt peak power?  Equivalently, is the maximum average power limited to 1000 watts? 

ANSWER:
The maximum duty cycle for NPOL is .001 (0.1%).  Although we can operate at the parameters listed in the SOW the combination is limited by this duty cycle. 

